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Quant Mega Quiz for SSC CGL Tier - 2

Q1.
Ifa+ b+ c=p,abec =qandab+ be +ca =0,

then what is the value of ab? 4+ b%c? + c%a® ?
(a) 2pq

(b)-Zpq

(c) 3pq

(d) -3pq

Q2.

Ifx* +v* + x—iz + ;% = 4, then the value of x* + y*® is
(a) 2

(b) 4

(c)8
(d) 16

Q3.

If x* + ¥* = 35 and x + v = 5, find the value of G-I— f) ?
(@)3/7

(b) 3/8

(c)5/6
(d) 13/7

Q4.

5 .
ifx* + — = 23 then what is the value of (I - i)
. X

(a) -3 Complete Preparation for
SSC Exams

(b) 3
(7

@7 SSC
g)s(blg;l(zlb) :-Sc = 8, then the value of (a-4)*+(b-3)3+(c-1)3-3(a- E XT R E M E

(a) 2

(b) 4 . .
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Qeé.
Ifp= %, then the value of 27p® —

(a) 4/27
(b)5/27
(c) 8/27
(d) 10/27

1 9

2415,
216 2F ++p]5'

Q7.

If5Y* 4+ 12¥* = 13¥* then x is equal to :
(a) 25/4

(b) 4

(©)9
(d)6

Q8.

Ifx® 4+ 2 = 2x, thenthe value of x* — x* + x> 4+ 2 is:
(a)o

(b)1

(c)-1
(d) V2

Q9.Ifa:b=2:3and b:c=4:5, find a® :b*:bc?
(a)4:9:25

(b) 16:36: 45

(c)16:36:25

(d)4:36:37

Q10.

(I—i—i)( —i)(xz+x—12— 1)(Xz+x—12+1)isequa]t0:

6 1

@ xX® +—
=

(b) x?
@
6 _ 1

(d) x®
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Q11.
(b—ci(b+c—2a) (e—alic+a—2k) (a—b)a+b—2c)
then x +y + z is equal to :

(a) a+b+c e .

(b) a®+b*+c* ENGLISH

(@0 BY

(d) (a+b+c) 2 NEETU SINGH
12" May

Q12.

Given that, 10%*8 = x,10%"% = y and x® = »?,

then the value ofz is
(a) 1.45

(b) 1.88

(c) 2.9

(d) 3.7

Q13.

1 1 1

xz + yaz — zz = 0, then {(x + v — 2)? + 27xyz} is equal to:
(a)-1

(b)1

(c)0

(d) 27

Q14.

1_ 2t .
If 2p + . 4, then the value of p= + e is:

(a) 4
(b)3
(c)8
(d) 15

Q15.

If x = 5 + 2v/6, then the value of (w.."? + i_) is:
(a) 2V2

(b) 3v2

(c) 2V3

(d) 3v3
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Q1e6.

Ifa 4+ b+ ¢ = 0, then the value Dfﬂz:&‘i— 2 is
a“—be

(a)o

(b) 1

(c) 2

(d)3

Q17.

Ifx=p+ iandjs =p- i.then value of x* — 2x%y? + y*is:

(a) 24
(b) 4
(c)16
(d)8

1 1
—+ =+t
Q18.If x= - 1, then the value of «*° = = = x%7 = x% © %5 ° x5

(@1
(b) O
(c) -2
(d)-1

Q19.

fx*=y+zy =z+xz"=x+y,

1 1,
- — 15

1
then the value of — +
x+1 y+1 £+1

(@)-1
(b)1
(c) 2
(d) 4

Q20.

Ifa® + b* = 2 and € + d° = 1, then the value

of (ad — bc)* + (ac + bd)* is

(a) 4/9 TEST SERIES

%b)) 11/ 2 Bilingual
C
(d) 2

Q21.
h—

If 1.5a = 0.04b then ——is equal to
b+a

(a)73/77

(b)77/73

8)) 27/57/52 59 Total Tests | eBooks
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Q22.

a®+b % +ab
Ifa =11and b = 9, then the value of (—)
(a) 1/2
(b) 2
(c)1/20
(d) 20

ﬂa_ba

Q23.

If p = 999, then the value of V}‘?(pz +3p+3)+1is
(a) 1000

(b) 999

(c) 998

(d) 1002

Q24.

f(x—3) 4+ (-57+(z—4) =0,
.7(1'2 _}"2 zZ .

then the value of — + =— + — is
9 25 16

(a) 12

(b)9

(c)3

(d)1

Q25.
a’—bi—2bc—c?

- is equal to :
a2+b2+2bc—c? a

a+b+c

(a) a—b+e
a—b—c

(b) a+b—c

a—b—c

(C)a—b—c
a—b+c

(d) a+b+c

Q26. If a+b+c+d=1, then the maximum value of (1+a)(1+b)(1+c)(1+d) is
(@)1

(b) (E)

(©) (4_)
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Q27.

Ifg,_lle aw-l-b%\.’rj-kf:anda,b.c.

Vad+ 52+
are rational numbers, thena + b + ¢ is equal to

()0
(b) 1
(c) 2
(d)3

Q28.

a+ab+b?
a?—ab+b2

Ifa = :;ii and b = :;;: then the value of
(a) 3/4
(b) 4/3
(c)3/5
(d)5/3

Q29.

Ifx = a\k/a+*tf(m+ Va—m,
then x> + 3bx is equal to:

(@0

(b)a

(c) 2a

(d)1

Q30.

If average of x and% (x =0)isM

then what is the average of x% and x—l,z ?
(a) 1-M?

(b) 1-2M

() 2M?-1

(d) 2M? + 1
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